MODEL QUESTION PAPER ---------
GEOGRAPHY (XIl)Regular
(Session 2021-22)

Time Allowed :3 hrs

iRyl gURIHT 3IH AE A AR S 1

Candidates are required to give answers in their own words as far as possible.

TS U &b 3 I¥db G fAT T F |
Marks allotted to each question are indicated against it.
fa=iy fgwr

Special Instruction :

(i) U & IO S THI Ol IR T UH-U3 TR =S 7S § , SIR-YFKdT IR dal U8 T forg

3ffarT gl

While answering your question, you must indicate on your answer — book the same question

Number as appears in your question paper.
(i) T 7 e g1
All questions are compulsory.

1. et &t 9 F @ g T g9s

i) ST T ST ATAT 75T i)
i) T - & iv) el
v) ~
Show the following on the outline map of India :
i) Highest sex-ratio state of India ii) Kandla Port
iii) North-South corridor iv) Tea producing area of India

v) Indira Gandhi canal

2. §g faoada us:-

frrafuiad vd® uy F e aR o St R e g | 98t SR fora |

Multiple Choice questions:-

Four multiple choice answers are given for the following questions. Write the correct answer.

i) o f 3 ?
) f ) q

) ) T H

Max. Marks: 50

(1x5=5)



Which one of the following state has the highest human development index?

a) Haryana b) Himachal Pradesh
c) Kerala d) Uttar Pradesh
i) ST 1 AT T AT A TE?
) 1944 ) 1936
) 1951 ) 1947

When was the planning process started in India?

a) 1944 b) 1936
c) 1951 d) 1947
ii ) fog 3T 2
)9 ) 11
)12 )7

How many major ports are there in India?

a)9 b) 11
c) 12 d) 7
iv ) Faferfe 7 & w a1 i aftaat w1 9w agi 8 2
) ¥ )

) = ) =T

Which of the following is not a function of urban settlements?

a) Administration b) Agriculture
c) Industry d) Trade
v) f g2
) 1871 ) 1881
) 1891 ) 1861

When was first census held in India?

a) 1871 b) 1881
c) 1891 d) 1861
vi) @ 5 2
) ) E
) ) T

Which is the largest rice producing state of India?
a) Punjab b) West Bengal

¢) Tamil Nadu d) Uttar pradesh



vii) / ¥ ?

) ¥ 3 ) TS AR 7.4
) B 7 ) TS AR 7.5
Which is the largest/ longest national highway of India?
a) National Highway no. 3 b) National Highway no. 4
c) National Highway no. 7 d) National Highway no. 5
viii) TS F TqTT TET T HI A7 IAET 9737 JIav g ?
) )
) )
Which type of settlement pattern is found along a road?
a) Rectangular b) Circular
c¢) Linear d) starlike
ix) 5 ?
) ) g
) )
Which state of India is the most urbanized?
a) Tamil Nadu b) Maharashtra
c) Mizoram d) Goa
x) < f ?
) )
) ) =
The most important means of irrigation in India is?
a) Wells b) Pond
c) Canals d) Tubewell
xi) ¥ - T ?
) )
) )
Which one of the following is cheap mode of transportation?
a) Railway b) Air Way
c) Water Way d) Road Way

Xii) VTR & FIT & 5T T AT AT GATIHF & 2
) )
) f )



Which state of India has the highest cropping intensity?

a) Gujarat b) Punjab
c) Haryana d) Bihar
xiii) 2011 , % T -
) 382 =fha ufq aw . . ) 324 =IfFa ufaq v f=.
) 260 HAfFg afg = . . ) 336 =Ffwa ufy aw .
According to Census 2011, the population density in India is:-
a) 382 persons per sq. K.m. b) 324 persons per sg. K.m.
c) 260 persons per sg. K.m. d) 336 persons per sq. K.m.
xiv) ‘ g f 5 00F ?
) q ) @ 0
) )
In which state is the ‘Bharmour tribal area’ located?
a) Himachal Pradesh b) Uttarakhand
c) Punjab d) Manipur
Xv) - ?
) )
)f = )
Which city is the largest city of India?
a) Chennai b) Kolkata
c) Delhi d) Greater Mumbai
3. T F 2 FurSe q920 i fataat # aue Fife |

What is rainwater harvesting? Describe the methods of rainwater harvesting.

(or)
AT |/ AT 1 H10 % orT IusT 1 29T , ST AT TET =1 T F0 FIToT |

Describe the conditions of growth, production and major areas of cultivation of rice in India.

4. G 9 T |
Describe the factors affecting distribution of population in India.
(or)
ToRTTaTa & e F47 wHad g ? Ad 7 A oA & Frr #7 fFEaw & que 57

What do you mean by sex-ratio? Describe in detail the reasons for low sex-ratio in India.

5. AT AT T ThTATe i T

Give the functional classification of Indian towns.

(1x15=15)
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(4)



6. TTET ATEA UTeag (0 Fgd g 2 9°d 0 TqE ITST AT2H1 H7 F9 7 |

What is Pipeline Transport? Discuss the major pipelines in India. (4)
7. AT S A afEaal 7 e e 7 |

Differentiate between rural and urban settlements. (2)

8. #THa fare FEw® & FT ATHITT § 2

What is meant by human development index? (2)
9. aTed | fa=Ts 1 r=aeFhaT F Fre HF FEOT AT |

Give any three reasons for the need of irrigation in India. (2)
10. * FF T e e feraoft o |

Write a brief note on the ‘Policy of open skies’. (2)

11. F ?

What do you understand by sustainable development? (2)
12, AT H STAEEAT T % F 2

What are the main causes of migration in India? (2)
13. f El T2

What is meant by transport? (2)



